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1 |1/2t FT7 v 7 A V16BBRSFA =) 5
2 |1/2t FT7 v 7 AW V16BBRSFA = 4
3 | 1/2tIRHEE V16BBRSFA = 1
4 (BN KTy s V16BBRSFA = 1
5 |3 NT v BXD30 B 1
6 |1 1/2t +T7 w7 BXD30 = 1
7 01 1/2t%kEHE 4 X 4WB503 =) 2
8 [31/2t F7 v/ A SKW462 = 1
9 [31/2t 7 v/ B SKW475 =) 4
10 |3 1/2t/K¥ 7 H SKW464 = 2
11 |(TthT w2 FX50] = 1
12 [ZEBHE 25 DBE-GJ3 5 2
13 [ReEk CBF-TRH221S = 2
14 |1tk&Z> 7 RLb—7 WT-1000 = 3
15 |Ep4hcE 1 5 (2) DHPFX115A = 2
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ME NRE
i Za Bl & B 7 u & (-

1 ) 77 kg 20, 069. 80
2 #rIg H 2 kg 25, 756. 60
3 M) H 3 kg 37, 159. 80
4 #rIg H 4 kg 13, 394. 00
5 i) 3 itk kg 2, 701. 40
6 il Ji = kg 7. 40
7 il Ji hifa kg 285. 70
8 il Je T kg 87.10
9 ki 7 kg 17. 00
10 B i)E = kg 84. 00
11 =R % W kg 190. 20
12 T E Slf7 kg 1, 504. 50
13 2T LA kg 531. 20
14 A kg 709. 40
15 T A kg 1, 107. 60
16 |#iE(F R P%) kg 3. 00
17 = U kg 6, 675. 30
18 Rl E Sh kg 7,845. 60

Gt 118, 129. 60




